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1. PN g Clo|E
[1-36] V,;=1.786V

[1-37] 1, =3.54mA, V,=0.753V, P, =2.666mW

[1-38] I, =1.475mA

[1-39]
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[1-40] 7=90.45mA, V, =213V, V,=3.21V, V; =251V, V,=1.81V
[1-41] 7=4.52mA

[1-42] ()
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(b) V. =3.18V

avg

(¢c) PIV=5YV




[1-43]
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(d)

(a)

(c)

42.5mA, P, =212.5mW

[1-44] I,

[1_45] VS,min - 7V, VS‘maX - 146V




[2-56] Ipo=9uA, Ipg=2.05mA, Ipo=2.06mA, Vyeo=39V

[2-57] Iy, =185uA, Ipg=285mA, Iy, =2.87TmA, Vigy=3415V

[2-58] R, =122.26k?

[2-59] R, =279.6k2, R, =52.78k2

[2-60] A, =—9.4V/V

[2-61] R, =558.67ks?2

[2-62] I, =10.82uA, Ipg=248mA, Iy =249mA, Vyeo =429V, A, =—6.4V/V
[2-63] Iy, =T19pA, Iog=1.65mA, Iy, =1.66mA, Vgyeo =552V, A, =0.99V/V
[2-64] A, =9.33V/V

[2-65] (a) A,, =—139.52V/V

(b) A, =0.989V/V
(c) A,=—137.98V/V




3%k, MOSFET SZ7|

[3-46] W=4pum
[3-47] I, =0.7TmA, Vg, =22V
[3-48]1 R, =1.2k2, R, =600k, R, =120kS?

[3-49] I, =1.2mA, V,=3V

[3-50]

[3-51] r, =20k, A=0.0217V !

[3-52] 4¥ A& : R, =14.29k2
=84 1 R, =2.83k
A,=—273V/V

[3-53] ¥4=AT : R, =60k

[3-54] A,=—3.09V/V

[3-55] 4, =—157.5V/V
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[4-41]
[AG®)|as
80
60
+20 dB/dec
40 -20 dB/dec
20 +40 dB/dec
0
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¢(jo)
-45°/dec
180
135 -90°/dec
20 -45°/dec
45
0
1 4
4 10 102 10® 104 105 106 107
-90
-45°/dec
-135
[4-42] f;=3.38 MHz, f,=507 MHz
[4-43] f,=44.05 MHz
[4-44] 7,=28.0msec, f,=5.68Hz
[4-46] f,=382.58Hz, fy=587.83kHz

[4-47] (@) C,,=6.4pF, C, =18.4pF

(b) fy=559MHz

[4-48] (a) C, =1.62pF

(b) fy=196.49MHz
[4-49] C,=22.92nF

[4-50] f,=7.31MHz

o [log]

o [log]




58. ArE5SH7|2t HAHSZ

[5-31] v, = 2.003mV

—/BUAR

[5_32] A(lm = 7gm,RC’ Ar:m = Tﬂ'+(1+ﬁ“)(2RE)

[5-331 Ay 00 =— 375, A, =—49.67x10"°, CMRR=75.50 (3= CMRR;;=37.56dB)
[5_84] ‘[amax =0.3A, VCE,max: 30V, PDﬁmax: 2.25W

[5-35] 16%

[6-36] (a) I, =0.136 A
(D) Tomax =0-272A, Vg max =20V, Pp . =1.36 W

[5_87] VCC,min - 6V
[6-38] 4.0W
[5-39] 7,=120.9C, T.=92.1C, Ty=79.5C

[5-40] Pp .. =30.9W




6. T
[6-41]
NEFEZ o] = (A) B
A=10° 0.01
A=10° 0.019
A=10" 0.0199
A= 0.02

[6-42] A =20, 8 =0.00475

[6-43]
[6-44]1 R, = 0.8, R,, = 37.5M2
[6-45] (a) 943 ZAA: HH(series), =2 ZAA: W& (shunt)
(b) v 1’ A’uf: IV/V
[6-46] HAZS 2=t
[6-47] (a) 9= ZAXA: HH(series), =2 ZAAl: ) H(series)
(b) 8,=0.5k2, A,;=2.0mA/V
[6-48] (a) 9= ZAXA: HH(series), =9 ZAA: A H(series)
(b) /8 _ REIRE3 o RE1+RF+RE3
: RE] +RF+RE3 , 9f RE]REJ
[6-49] (a) 943 ZA: ¥WH(shunt), 4 ZAA: A H(series)
(b) A;=21A/A
[6-50] (a) Y8 ZAXA: ¥d(shunt), 3 ZA: ¥ ZH(shunt)
(b) A,,=—250kf2, A,,=-5V/V




Ry Ry

[7_44] U()l = 1+? U], U()2 =1+ — U[
1

[7_45] Vo :_RFiQ :_RF 'L.S

[7-46] 99.47mV

[7-47]1 A=F

[7_48] Vo = RQCIW

[7_49] Vo = VTIH(L)

[7-50] 200kHz




[8-31] R, =80k

L A&
QWRO, R1

[8-32] f, = P

[8-33164.16 uH < L < 256.64 H

[8-34] V,=1.67V, R, =225k

R3 _R3
[8 35] VTH_ (R1+Rd )('UO V’Y)’ VTL_ R2+R5 ('U()f I/A/)
[8-36] V;=—1.36 VR, =50k
R, R,
[8-37]1 V= E(v()_ Vw)’ Vg = E(|UO|_ V"/)
[8-381V L AU I L B R |
min R2 R R2 0 max R2 R R2 0 avg R2 R

[8-39] V=2V, R=10kf2, C=0.1uF

[8-40] [1.36kHz < f < 2.58 kHz, 50.94% < § < 96.43%
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